


01

BER

Box & Storage Case

05

PCREALIR
PC Plate

PORONEE M G
PORON Battery Foam

09

13

Hiest
Knob

Page 1

BERAR

PACKAGE CONTENT
02 03
+TFE BB IRk
Case Back Plate
06 07
PORONIH & PORON 0\ B

PORON Switch Foam

10

gasketMAEE
Gaskets

14

it
Battery

PORON Plate Foam

11

2.4GHE e
2.4G USB Receiver)

15

DEINR
Daughterboard

04

=EFFERGB PCB
Tri-mode Non-Flex
Cut RGB PCB

08

PORONJEH
PORON Case Foam

12

SMERECE
External Weight

16

BiRF
Case Allen Key

MELETRIX

18

irinr

L2
WS Stabilizers

24

L TFEEREL
Size:7 ATk M2*8
Case screws

Size: M2*8

21

TEHBLE
Size: Bk+F M2*5
Screws Bags Size: M2*5

26

R
Rubber Feet

*14 B2ith* 12 4G ER X R T LR hi 4

*14 and*12.4G The battery is for the wireless version only.

ZoomPad Build Guide

22

R
Standoff

23

ke $74

Size: +FF % M2*3
Standoffs Screws
Size: M2*3

Page 2



01

02

Page 3

RESRE

INSTALLATION STEPS

FERBIINEEREERD, BIAGTAEER, OEYRES T 2. WHERK, BHALHXE
AENER.

Please make sure to check if the brown or black packaging box is undamaged. Please
check if the items listed above are not missing. If you’ re missing any of the items above
please contact the store you purchased it from before proceeding ahead.

SMiX FPCBINAER T ER | IUFIMNR, AR/ NMRIVHAIEEIPCB L, AREUIBL TR

SF BB RAN/ RO

To test the function of the PCB first: remove the top case of the kit, plug the daughter
board cable into the PCB.Then use the coiled cable to connect the computer and the
daughter board.

O

O

MELETRIX

03

04

ZoomPad Build Guide

SRBRTFEHITHENAML N, Bl —THRED[ETERE (CAREE TR, BN
VIAWT R E=EMPCBER., (MBREBFIAMKABITENER)

First use the tweezers to test the socket, then test again whether the encoder is normal
(turn left and right and press down) the corresponding key will light up on the via to
indicate that it can work normally.(If there is something wrong, please contact the store
you purchased it.)

O

M SFIhRE : = M, EiEpcbiE O, HIMMEBEENUMML L, BRNUMBIRRL, Kiz/l
o, ZFEIETRITRA, IRIEFUEL, REREXTERA T U EBHMARTEFHEELE
. MNBREEIMKAWZTEENEIR)

Test the bluetooth function: take out the battery, connect the PCB interface,plug the
socket into NUM and 1, press NUM first,then press 1,long press for a few seconds, the
greenindicator light flashes, unplug the data cable, under wireless mode any key can be
triggered means the bluetooth function is normal.(If there is something wrong, please
contact the store you purchased it.)

Page 4



05 2.4GIHREMIR - B AR ENUMAM 4 £, SR IRFNBIR4, KB TITIRIA, 52 4GSR BN B

06

Page 5

RN I E R BT SRE—R, FESIELNEL TRERRRARTERER,

Test the 2.4G function: plug the socket into NUM and 4, press Fn then 4, the purple
indicator will flash quickly. After the 2.4G USB receiver is successfully connected to the
computer, the purple light will flash once. Press any key to trigger it without plugging
the data cable to indicate that the connection is successful.

NUM

T—%, AREH . FHIDEM, KRBT E—THOMMMMLR i, BIEWLKRERM
HMOER,BFELRT A

Next, to lubricate the stabilizer: take out the stabilizer, apply grease on both sides of the
stabilizer stem and on two ends of the steel wire. Then put the steel wire into the
stabilizer stem and press it down from bottom to top.

MELETRIX

REDEWEZHPCBAMM TE B TRENESA LKNEAZPCBL AERMAEREEM TE, IR
LI (BEMAMXNERIL), G FRLHR, 7 iR,

Install the stabilizer:take out the PCB and the lower socket pad, place the frosted
surface of the lower socket pad on the PCB, then use the socket body to fix the lower
socket pad,pay attention to the hole position(stabilizer hook feet to the big hole), and
finally install the screw rubber feet and tighten the screws.

07 KOMOPFEREHREZEPCBL BHEMRLEEE, BREEMRFAE, FHREEPCB
L, BEiT LR,

Put the poron plate foam on the PCB( pay attention to distinguish the front and back),
take out the PC plate to install the gasket sleeve, then install the PC plate copper
column and place it on the PCB, finally screw the standoff screws.

ZoomPad Build Guide Page 6



08 REBRIE—TRE, XEREREFH ! AGREINIRE, EERx LiIP EBL2 . BHE lO REEGIFNE MK,
B th, {RTEPCBEB MR O L, Install all the sockets.
Finally, let’ s install poron PCB foam so the inner liner is ready! Then take out the
external weight and install it on the bottom case and screw it. Then put the battery on
and plugitinto the PCB battery port.

09 BEREFRER, LR, REBF L TREERL, LFSIRBLY ERERE LR, ll RRFFERIE,

After adjusting the inner liner, put on the case, quickly lock the upper and lower case Install all the keycaps.
fixing screws, and finally install the rubber feet after the case being screwed.

O
O

Page 7 MELETRIX ZoomPad Build Guide Page 8



14 EEHNAPNBEERILERT, THER.

12 BN EATERER A SCIEH, A E, BRNEEN/NSBLTIT REERLANA T R84
This building guide is over till now, wait to see you next time!

&, BRIH A ENRTRELIR (U TERRETE).

Take out our matching lighting knob, find the right position and use the matching small
screwdriver to tighten the fixing screw. Gently pulling and not fall means that the instal-
lation is correct(the following picture is only for demonstration).

13 RENRG, ARFET—LERER NUM+Del BRGBFFXBIHRIEHR NUM+Pause £
BT NUM+“+7 TR FZER D, NUM+ AT R EE .
Finally, let us show you some shortcut keys: NUM+Del is the shortcut of the RGB switch,
NUM+Pause is to switch the light effect, NUM+ “+” is to reduce the brightness while
NUM+” -” istoincrease the light.

Page 10

Page 9 MELETRIX ZoomPad Build Guide



